Run 4531 triggerwise, sums: All

Entries: 4478697

Mean: 4356.3697 +/- 2.1497

Std Dev: 4549.3464 +/- 1.5201
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Run 4531 triggerwise, sums: Beam ON, Laser ON
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Helicity==
— Helicity==1

Entries: 1245435

Mean: 5393.4132 +/- 4.9332

Std Dev: 5505.3805 +/- 3.4883
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Run 4531 triggerwise, sums: Beam OFF
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Entries: 1434

Mean: 1015.3508 +/- 15.7895

Std Dev: 597.9197 +/- 11.1649
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Run 4531 triggerwise, sums: Beam ON, Laser OFF
Helicity==
— Helicity==1

Entries: 961519

Mean: 30441432 +/- 2.3300

Std Dev: 2284.7623 +/- 1.6476
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